
1.11 1)
(

g ◦ f
)

(x) = g
(

f(x)
)

= g(x2) = 2 x2 + 1
(

f ◦ g
)

(x) = f
(

g(x)
)

= f(2 x+ 1) = (2 x+ 1)2 = 4 x2 + 4 x+ 1

2)
(

g ◦ f
)

(x) = g
(

f(x)
)

= g(x2 + 1) =
1

x2 + 1
(

f ◦ g
)

(x) = f
(

g(x)
)

= f

(

1

x

)

=

(

1

x

)2

+ 1 =
1

x2
+ 1 =

x2 + 1

x2

3)
(

g ◦ f
)

(x) = g
(

f(x)
)

= g(
√
x) = 2

√
x− 6

(

f ◦ g
)

(x) = f
(

g(x)
)

= f(2 x− 6) =
√
2 x− 6

4) Comme l’illustrent les trois premières questions, la composition des fonc-
tions n’est pas commutative : g ◦ f 6= f ◦ g.
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